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Answers to Review Questions


1. The owner of a business typically supplies valuable resources to the firm.  There are always alternative uses of these resources, and it may be the case that he can earn a high rate of return on these resources in one of these alternative uses.  If this is the case, then the implicit cost of these resources will be large and will drive economic profit to zero.



0. Wages have risen steadily over the past decades, largely because of productivity increases in manufacturing.  Thus the cost of repairing a radio is now higher than the price of a new one, since the cost of having a radio repaired is mostly determined by the earnings of the people doing the repairs.



0. Market forces, such as entry to and exit from an industry, shift supply curves and cause price changes that eliminate economic profit.  There are no similar processes that affect the economic rent, since economic rent is the return to factors of production that are not easily duplicated.



0. If a policy is not efficient, then it can, by definition, be altered in a way that benefits at least some people without harming others.  Economists therefore favor efficient policies because such policies make additional resources available for the pursuit of other goals.



0. If enacted, the proposed policy will not, by itself, make everyone better off.  However, suppose the policy is combined with a tax on workers that is used to pay for a $5 million per year increase in Social Security payments for retirees.  This combination will make everyone better off since economic surplus for retirees will rise by $4 million ($5 million in increased Social Security payments minus $1 millions of lost surplus from enacting the new policy) and for workers by $94 million ($100 million in increased surplus minus $5 million in taxes to pay for the increased Social Security payments.)

Answers to Problems


1. a.	False. The maxim tells us that there are no unexploited economic opportunities 
when the market is in long-run equilibrium. In fact, there often are unexploited economic opportunities in the short run when markets are not in equilibrium.
b. False. Firms in long-run equilibrium make zero economic profits. They make a 
positive accounting profit since, in order to stay in business, the firm must earn enough revenue to cover both explicit costs and implicit costs. Thus, accounting profit, which is equal to total revenue minus explicit costs, must equal the opportunity cost of the owner’s resources that have been invested in the firm.


c. True. Firms that introduce cost-saving innovations can earn economic profits
until other firms adopt their innovations. As the innovations spread, the industry supply curve will shift right, causing the market price of the good to fall and short-term economic profits to fall.



0. a.	Jaime’s accounting profit is her revenue minus her explicit costs: $5,000 – $4,250 
= $750


b. In this case, Jaime’s opportunity cost to run the café is $725 per year ($1,000 – $275 = $725). Thus, the café is making an economic profit of $25 per year ($5,000 – $4,250 – $725 = $25). Since the café is earning an economic profit, Jaime should stay in the café business.

c.	In this case, Jaime's opportunity cost of running the café is $825 per year ($1,100 – $275 = $825). Thus, the café is earning an economic loss of $75 per year ($5,000 – $4,250 – $825 = -$75). Since the café is earning an economic loss, Jaime should not stay in the café business.


d. Jaime’s accounting profit equals her revenue minus her explicit costs. The answer
to part a changes. If she doesn’t need a loan, then her explicit costs equal $3,250. So, her accounting profit equals $1,750 ($5,000 – $3,250 = $1,750).

The answer to part b does not change. If Jaime invested $10,000 of her own money in the café, she could have earned $1,000 per year in interest by putting the money in a savings account. That amount is an opportunity cost that must be included when calculating economic profit. Thus, the reduction in explicit costs, by not taking out the loan, is offset by the increase in implicit costs of investing her money in the café.  Jaime’s economic profit is therefore unaffected.


e. To earn a normal profit, the café would have to cover all its implicit and explicit 
costs. The opportunity cost of Jaime's time is $1,000 per year while the café's accounting profit is only $750 per year. Thus, the café would have to earn additional revenues of $250 per year in order for Jaime to make a normal profit.



0. a.	The company that employs Janus will collect $500,000 more in revenue than the 
other advertising companies in New Orleans. Thus, Janus will earn $600,000 per year: the normal salary for a designer ($100,000) plus the additional revenue Janus generates for the firm that hires her ($500,000). Since Janus’s economic rent is $500,000 per year, 5/6 of her salary (roughly 83 percent) is economic rent.


b. If the company that employs Janus tries to pay her the salary of a normal
designer, the owners of other companies will have an incentive to offer Janus a higher salary to bid her away because she generates $500,000 per year in additional revenue for whichever company hires her. In fact, Janus's salary will be bid up until no economic profit remains, which occurs when she earns $600,000 per year



0. a. The short-run economic profit for a cotton farmer is:

Economic profit = Total Revenue - Explicit costs – Implicit costs
Economic profit = $60,000 – $14,000 – $6,000
Economic profit = $40,000

In the long run, more factory workers would want to move into cotton farming, and would thereby bid up the rent on cotton farms. The rent would continue to rise until it reached $50,000 per farm. At that point the incentive to leave a factory job would no longer exist since cotton farmers would again be making zero economic profit.


b. Landowners would reap the long-term benefits of the scheme. Their income would rise by $40,000 per year per 120-acre plot because rent would rise from $10,000 to $50,000. 



0. a.	Consumer surplus is the triangular area between the demand curve and the 
equilibrium price. Its area is equal to (1/2)(base)(height). The base is 6 units and the height is 1.5 units, measured in dollars. Therefore, consumer surplus is (1/2)($1.50/unit)(6 units/week) = $4.50 per week.


b. Producer surplus is the triangular area between the equilibrium price and the supply curve. Using the base-height formula, it is (1/2)($4.50/unit)(6 units/week) = $13.50 per week.


c. The maximum weekly amount that consumers and producers together would be willing to pay to trade in used DVDs is the sum of gains from trading in used DVDs—namely, the total economic surplus generated per week, which is $18 per week.



0. a.	At a price of $7.50, the quantity supplied per week is 2. The quantity demanded at 
this price is 18 per week, which implies a weekly shortage of 16 used DVDs.


b. The weekly economic surplus lost as a result of the price ceiling is the area of the dark-shaded triangle in the supply and demand diagram below, i.e. the sum of the areas of the two triangles ABC and ACD in the more detailed diagram that is circled. Using the information given in the graph, this amount is calculated as (1/2)($1/unit)(4 units per week) + (1/2)($3/unit)(4 units per week) = $8 per week.
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0. The total cost of the subsidy is equal to the change in price ($1) multiplied by the quantity sold at the lower price (in this case, 5 million gallons). With the subsidy, consumer surplus is equal to the area of triangle ADE. Without the subsidy, consumer surplus is equal to the area of triangle ABC. The difference is the area BCED, which equals $4.5 million per year.
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The lost surplus is the difference between the government cost and the gain in consumer surplus.
 
0. a. 	The demand curve for each individual household is as shown in the diagrams 
below.

b. 	With the subsidy, each family receives consumer surplus equal to the area of triangle ADE.  Without the subsidy, consumer surplus equals the area of triangle ABC.  The difference is the area BCED, which equals $4.50 per year.
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c. The government's heating oil subsidy per family is ($1/gallon) × (5 gallons/year) 
$5 per year. The government could thus cut each family's taxes by $5 per year by not subsidizing heating oil.
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d. The family's net gain would be the $5 it saves in taxes minus the $4.50 it loses in consumer surplus from its heating oil purchases which equals $0.50 per year.
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The aggregate gain from the tax cut and the removal of the subsidy is $500,000 per year ($0.50 per household per year for 1 million households). This is the same as the loss in total consumer surplus that resulted from the subsidy, so the subsidy was inefficient.
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